TS-430S IF filter mod

The Kenwood TS-430S allows for
great flexibility in selecting different IF
filters. It comes with a 2.4 kHz (6 dB)
wide filter for SSB and CW and has
a slot for both narrow SSB (1.8 kHz)
and narrow CW (either 270 or 500 Hz)
filters. In addition, a 6 kHz wide filter
is available for AM.

The filters are automatically selected
according to the mode selection {CW,
USB, LSB, etc.) and according to the
narrow/wide switch. One limitation of
this is that the narrow CW filter can-
not be used in the LSB mode. Most
RTTY operation with this rig will be
done in the LSB mode, and having a
narrower filter would reduce the
effects of QRN and QRM.

The original circuit (fig. 1A) uses a
diode switching approach to select the
appropriate filter. Connector No. 27
{may be labeled No. 29 in the instruc-
tion manual) comes from the narrow/
wide switch on the front panel. Either
of the controf lines SSW or CWW go
high in the wide position, depending
on the mode (SSB or CW respective-
ly). Similarly, SSN or CWN go high in
the narrow position, according to the
mode selected. These control lines
connect through resistors (and some-
times diodes) to the appropriate IF fil-
ter. A modified circuit (fig. 1B) is
shown which allows for the use of the
narrow CW filter in the SSB mode. In
the LSB made, in particular, this filter
ends up being centered around an
audio frequency of about 2 kHz, which
is ideal for RTTY interfaces using audio
tones in that area. The IF shift control
can be used to adjust this frequency,
if necessary.

In normal transceiver operation,

switching from CW or SSB often re-
sults in the narrow position selected in
the SSB mode. If no narrow SSB fil-
ter is installed, the IF section is simply
left open and no signals can be heard.
The suggested but untested circuit
shown in fig. 1C will enable the wide
filter in SSB mode regardless of the
narrow/wide switch position.
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fig. 1. (A)Original circuit selects the ap-
propriate narrow filter depending on
whether the transceiver is in SSB or CW
mode. {B)Modified circuit allows for nar-
row CW filter to be used in both CW and
SSB modes. (C)Suggested circuit for
aenabling the wide filter in SSB/narrow
mode.

To locate the appropriate area inside
the transceiver, follow the instructions
for installing the optional filters. R7 and
R8 are located towards the rear of the
IF filters. The ends of R7 and R8 near-
est the rear of the transceiver go to
connector No. 27. (Be careful in un-
soldering the resistors because the
printed circuit board traces are
delicate.)

Robert A. Witte, KBOCY

short circuits

PL tone generator

In the April, 1984 article, ‘A Pro-
grammable PL Tone Generator,”
the component labeled “C7’’ in the
upper left-hand corner (immediate-
ly below “U7’’) of the parts place-
ment diagram (fig. 5, page 56)
shouid be iabeled 'C17."

RF synthesizers

In the three-part series ’“RF Syn-
thesizers for HF Communications,”’
(August, September, October,
1983), three corrections are re-
quired. First, the labeling of the ver-
tical axis in the phase noise plots in
figs. 15 and 20 of Part 2 (Septem-
ber) and fig. 13 of Part 3 {October)
should read “P, dBc ({IN 1 HZ
BANDWIDTH).”

A second error appears in the last
paragraph of the September article
{page 50) and under ‘“Using Bode
Plot” on page 26 of the October
issue. The open-ioop unity gain fre-
quency {fgolis not exactly equal to
the closed loop 3 dB frequency (fj).
While it is a reasonable approxima-
tion, the two are more accurately
related by:

Jpo/So=
V2e2 + V(282)7 + |
Voe2 v 1 + V(28 + 12 + 1

This difference is caused by the
fact that at open-loop unity gain,
the phase lag is not exactly 90 de-
grees. The closer this lag approach-
es 180 degrees (i.e., damping de-
creasing), the larger the difference
between the open-loop unity gain
frequency and closed-loop 3 dB fre-
quency. (This ratio is approximate-
ly0.756at £ = 0.707,0.829 at £ =
1, and 0.943 at £ = 2.)

Finally, in fig. 9 of Part 3 (Oc-
tober) a 0.01 uF capacitor should be
connected between pins 2 and 6 of
the NE5534 op-amp (as described in
the text).
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